
SBL 0103 Ekenäs bridgeklubb

2023-04-10  230410 Stadskamp Slutresultat
6 bord, 12 par. Antal brickor: 33. Medel: 165.

Plac Par Poäng % Namn MID Klubb

1 2 197 59,7 Anne Vesanen - Arvo Priimägi 2941 1382 Salon Bk
2 6 194 58,8 Regina Forssten - Ulla Lindström-Dahl 2266 2273 Ekenäs Bk
3 7 191 57,9 Nikolai Kaplitsnoi - Pertti Partanen 1360 1370 Salon Bk
4 4 185 56,1 Tiina Verkkoperä - Seppo Verkkoperä
5 10 181 54,8 Gunnar Almark - Camilla Danielsson 1754 2264 Ekenäs Bk

6 8 180 54,5 Birger Salonen - Jarmo Laakso 1385 1365 Salon Bk
7 9 178 53,9 Håkan Bjurström - Börje Eriksson 1305 1280 Ekenäs Bk
8 12 152 46,1 Anders Johansson - Jonny Barman 1217 1547 Ekenäs Bk
9 1 150 45,5 Maj-Len Sarén - Göran Hemanus 2198 1279 Ekenäs Bk

10 5 146 44,2 Hans Lindström - Bertil Malmström

11 3 127 38,5 Esa Aula - Leif-Erik Forsberg 3366 2064 Kirkkonummen Bk - AV
12 11 99 30,0 Timo Parkkulainen - Gun Finne 3041 2529 Ekenäs Bk



SBL 0103 Ekenäs bridgeklubb

2023-04-10  230410 Stadskamp Slutresultat
6 bord, 12 par. Antal brickor: 33. Medel: 165.

Par Kontr Ut Resultat Poäng
Bricka:  1

2 8 2 Ö = kn -90 4 6
4 11 2 S = 7 110       10 0
5 7 3 Ö -1 kn 50       8 2
6 3 1N V = 9 -90 4 6

10 9 1N V = 9 -90 4 6
12 1 3 S -2 D -100 0 10

Par Kontr Ut Resultat Poäng
Bricka:  2

2 8 2 V +4 7 -230 4 6
4 11 2 V +2 E -130 8 2
5 7 4 V +1 7 -450 1 9
6 3 4 V +1 7 -450 1 9

10 9 2 V +2 E -130 8 2
12 1 3 V +1 E -130 8 2

Par Kontr Ut Resultat Poäng
Bricka:  3

2 8 4 V -1 E 100       7 3
4 11 3 Ö -1 K 100       7 3
5 7 Pass 0       2 8
6 3 4 V -1 E 100       7 3

10 9 2 V -1 E 100       7 3
12 1 3 V = E -140 0 10

Par Kontr Ut Resultat Poäng
Bricka:  4

3 9 2 N -1 2 -100 0 10
5 1 2 N +1 3 140       5 5
6 8 1N N +2 3 150       10 0
7 4 2 N +1 kn 140       5 5

11 10 2 N +1 8 140       5 5
12 2 2 S +1 kn 140       5 5

Par Kontr Ut Resultat Poäng
Bricka:  5

3 9 3N Ö +2 10 -460 0 10
5 1 2 V +1 6 -140 9 1
6 8 3N V = 5 -400 6 4
7 4 2 V +1 8 -140 9 1

11 10 3N V +1 5 -430 3 7
12 2 3N Ö +1 5 -430 3 7

Par Kontr Ut Resultat Poäng
Bricka:  6

3 9 4x S -2 E -300 1 9
5 1 3 V = 10 -140 5 5
6 8 3 V -1 4 100       10 0
7 4 3 S -1 D -50 8 2

11 10 3 V = 3 -140 5 5
12 2 5x S -2 D -300 1 9

Par Kontr Ut Resultat Poäng
Bricka:  7

1 11 3N V +2 2 -660 7 3
4 10 5 V = 8 -600 10 0
6 2 3N V +3 8 -690 2 8
7 9 3N V +3 4 -690 2 8
8 5 3N V +3 8 -690 2 8

12 3 3N V +2 9 -660 7 3

Par Kontr Ut Resultat Poäng
Bricka:  8

1 11 4 N +1 7 450       6 4
4 10 6x V -2 K 300       2 8
6 2 5x N = 7 650       10 0
7 9 4 N +1 7 450       6 4
8 5 5 N = 7 450       6 4

12 3 6x N -2 7 -300 0 10

Par Kontr Ut Resultat Poäng
Bricka:  9

1 11 5 Ö -3 3 300       10 0
4 10 4 Ö -1 D 100       3 7
6 2 4 V -1 E 100       3 7
7 9 4x Ö -1 D 200       8 2
8 5 4 V -1 E 100       3 7

12 3 4 Ö -1 D 100       3 7

Par Kontr Ut Resultat Poäng
Bricka:  10

2 1 2 V = 5 -110 7 3
5 11 2 V = 7 -110 7 3
7 3 2 V +3 5 -200 4 6
8 10 4 V +1 7 -650 0 10
9 6 6 Ö -1 E 100       10 0

12 4 4 V = 10 -620 2 8

Par Kontr Ut Resultat Poäng
Bricka:  11

2 1 4 V = E -420 5 5
5 11 4 V = 10 -420 5 5
7 3 6x V -2 10 300       10 0
8 10 4x V = 10 -590 0 10
9 6 5 S -1 E -50 8 2

12 4 5 V = 10 -450 2 8

Par Kontr Ut Resultat Poäng
Bricka:  12

2 1 4 V = 2 -420 4 6
5 11 3N V +1 5 -430 1 9
7 3 5 Ö -2 K 100       10 0
8 10 3 Ö = K -140 6 4
9 6 3N V +1 2 -430 1 9

12 4 4 Ö -1 K 50       8 2

Par Kontr Ut Resultat Poäng
Bricka:  13

3 2 3 N -2 8 -200 2 8
6 1 2 S = 10 110       10 0
8 4 2N V = 5 -120 6 4
9 11 2 S -2 10 -200 2 8

10 7 2 V +1 3 -110 8 2
12 5 2 S -2 10 -200 2 8

Par Kontr Ut Resultat Poäng
Bricka:  14

3 2 3 Ö = 2 -140 0 10
6 1 2 Ö +1 10 -110 3 7
8 4 1N N +1 4 120       10 0
9 11 2N V -1 4 50       7 3

10 7 1 Ö +1 8 -110 3 7
12 5 2 V -1 7 50       7 3

Par Kontr Ut Resultat Poäng
Bricka:  15

3 2 4 Ö = K -420 1 9
6 1 4 N -1 2 -100 8 2
8 4 4 Ö = K -420 1 9
9 11 3 Ö = K -140 6 4

10 7 4x N -1 2 -200 4 6
12 5 4 Ö -1 K 50       10 0

Par Kontr Ut Resultat Poäng
Bricka:  16

4 3 2 V +2 K -130 6 4
7 2 2 N = D 90       8 2
9 5 2 Ö -2 3 200       10 0

10 1 1N V +2 K -150 4 6
11 8 1N V +3 2 -180 2 8
12 6 3N S -6 K -300 0 10

Par Kontr Ut Resultat Poäng
Bricka:  17

4 3 3 V +1 9 -170 0 10
7 2 4 V -1 2 50       7 3
9 5 3 V = 2 -140 3 7

10 1 4 V -2 D 100       10 0
11 8 3 V = 2 -140 3 7
12 6 4 V -1 D 50       7 3

Par Kontr Ut Resultat Poäng
Bricka:  18

4 3 4 Ö -1 6 50       9 1
7 2 4x N -1 2 -200 5 5
9 5 4 Ö = E -420 2 8

10 1 4 Ö -1 6 50       9 1
11 8 4 Ö +1 E -450 0 10
12 6 5x S -1 E -200 5 5



SBL 0103 Ekenäs bridgeklubb

2023-04-10  230410 Stadskamp Slutresultat
6 bord, 12 par. Antal brickor: 33. Medel: 165.

Par Kontr Ut Resultat Poäng
Bricka:  19

1 9 4 Ö = 10 -620 4 6
5 4 4 V +1 10 -650 0 10
8 3 4 Ö -1 10 100       10 0

10 6 4 V = 5 -620 4 6
11 2 4 Ö = 10 -620 4 6
12 7 3 Ö +1 10 -170 8 2

Par Kontr Ut Resultat Poäng
Bricka:  20

1 9 3 N +1 kn 130       9 1
5 4 2 N -1 7 -100 2 8
8 3 3 S +1 E 130       9 1

10 6 3 N -2 kn -200 0 10
11 2 3 S = E 110       5 5
12 7 3 N = kn 110       5 5

Par Kontr Ut Resultat Poäng
Bricka:  21

1 9 2 S = 4 110       6 4
5 4 2 V = 5 -90 2 8
8 3 2 S = 4 110       6 4

10 6 3 S = 4 140       10 0
11 2 2 N -1 9 -100 0 10
12 7 2 S = 2 110       6 4

Par Kontr Ut Resultat Poäng
Bricka:  22

1 3 3 V +1 10 -130 6 4
2 10 3N V -1 10 100       10 0
6 5 3 V +1 10 -130 6 4
9 4 3 Ö = K -140 2 8

11 7 1N V +3 7 -180 0 10
12 8 3 Ö +1 K -130 6 4

Par Kontr Ut Resultat Poäng
Bricka:  23

1 3 3N Ö +2 6 -660 1 9
2 10 3N V +1 3 -630 6 4
6 5 3N V = 6 -600 10 0
9 4 3N Ö +1 6 -630 6 4

11 7 3N V +1 3 -630 6 4
12 8 3N V +2 6 -660 1 9

Par Kontr Ut Resultat Poäng
Bricka:  24

1 3 2 V = E -90 2 8
2 10 4 S -1 3 -50 6 4
6 5 2 N +1 5 140       10 0
9 4 3 S -1 8 -50 6 4

11 7 1N Ö +1 K -120 0 10
12 8 4 N -1 2 -50 6 4

Par Kontr Ut Resultat Poäng
Bricka:  25

1 8 2 S -3 3 -150 0 10
2 4 3 Ö -3 E 300       6 4
3 11 3x Ö -2 E 500       10 0
7 6 4 Ö -4 K 400       8 2

10 5 2 S -1 3 -50 2 8
12 9 2N N +1 E 150       4 6

Par Kontr Ut Resultat Poäng
Bricka:  26

1 8 4 Ö +1 4 -650 3 7
2 4 4 Ö +1 4 -650 3 7
3 11 4 Ö -1 4 100       10 0
7 6 4 Ö +1 2 -650 3 7

10 5 4 Ö = 4 -620 8 2
12 9 4 Ö +1 kn -650 3 7

Par Kontr Ut Resultat Poäng
Bricka:  27

1 8 1N V +1 3 -120 0 10
2 4 3 Ö = K -110 3 7
3 11 3 N -2 E -100 6 4
7 6 4 Ö -2 2 100       10 0

10 5 2 Ö = K -90 8 2
12 9 3 Ö = E -110 3 7

Par Kontr Ut Resultat Poäng
Bricka:  28

2 9 2 S +1 E 110       7 3
3 5 2 N -1 9 -100 0 10
4 1 2 S = E 90       4 6
8 7 2 S +1 K 110       7 3

11 6 3 V -1 K 50       2 8
12 10 5 S = E 600       10 0

Par Kontr Ut Resultat Poäng
Bricka:  29

2 9 3 V -1 kn 100       6 4
3 5 2 V = kn -110 2 8
4 1 3 S = E 110       9 1
8 7 3 N = 7 110       9 1

11 6 3 V = 2 -140 0 10
12 10 2N N -1 10 -100 4 6

Par Kontr Ut Resultat Poäng
Bricka:  30

2 9 4 V = D -420 7 3
3 5 4 V +1 D -450 2 8
4 1 4 V +1 D -450 2 8
8 7 4 V = D -420 7 3

11 6 4 V +1 2 -450 2 8
12 10 3 V +1 D -170 10 0

Par Kontr Ut Resultat Poäng
Bricka:  31

1 7 4x V = D -590 0 10
3 10 3 V +1 D -170 7 3
4 6 4 V = D -420 3 7
5 2 4 V = 2 -420 3 7
9 8 2 V +2 D -170 7 3

12 11 3 V = D -140 10 0

Par Kontr Ut Resultat Poäng
Bricka:  32

1 7 3N V +1 D -630 10 0
3 10 3N Ö +3 kn -690 0 10
4 6 4 Ö +1 7 -650 5 5
5 2 4 Ö +1 7 -650 5 5
9 8 4 Ö +1 7 -650 5 5

12 11 4 Ö +1 7 -650 5 5

Par Kontr Ut Resultat Poäng
Bricka:  33

1 7 4 V +1 D -450 8 2
3 10 5x N -3 kn -500 1 9
4 6 4 Ö +1 D -450 8 2
5 2 4 Ö +2 D -480 4 6
9 8 5 Ö = 8 -450 8 2

12 11 5x N -3 E -500 1 9


